

CITY OF LA VISTA
MAYOR AND CITY COUNCIL REPORT
MARCH 2, 2021 AGENDA

Subject:	Type:	Submitted By:
AWARD CONTRACT - PARK VIEW BOULEVARD PANEL REPLACEMENT	◆ RESOLUTION ORDINANCE RECEIVE/FILE	PAT DOWSE CITY ENGINEER

SYNOPSIS

A resolution has been prepared to award a contract to TR Construction, Omaha, NE, in an amount not to exceed \$372,175.96 for the Park View Boulevard Panel Replacement project.

FISCAL IMPACT

The FY21/22 Biennial Budget provides funding for this project.

RECOMMENDATION

Approval

BACKGROUND

On January 19, 2021 the City Council authorized the advertisement of bids for concrete panel replacement along Park View Boulevard in various locations between 84th Street and 9th Street.

In response, four (4) bids were received on February 12. The lowest responsive bid was received from TR Construction in the amount of \$372,175.96, which is 27% below the Engineers Estimate of \$510,000.00. The bid tabulation for the project is attached.

After review by staff, it is recommended that TR Construction be awarded the contract in the amount not to exceed \$372,175.96. If awarded, TR Construction is to commence work in the spring of 2021, and all work will be completed by September 30, 2021.

RESOLUTION NO. _____

A RESOLUTION OF THE MAYOR AND CITY COUNCIL OF THE CITY OF LA VISTA, NEBRASKA, AWARDING A CONTRACT TO TR CONSTRUCTION, OMAHA, NEBRASKA, FOR THE PARK VIEW BOULEVARD PANEL REPLACEMENT PROJECT IN AN AMOUNT NOT TO EXCEED \$372,175.96.

WHEREAS, the City Council of the City of La Vista has determined that various panel replacements along Park View Boulevard between 84th Street and 96th Street are necessary; and

WHEREAS, the FY21/FY22 Biennial Budget provides funding for the proposed repairs; and

WHEREAS, bids were solicited, and four bids were received; and

WHEREAS Subsection (C) (9) of Section 31.23 of the La Vista Municipal Code requires that the City Administrator secures Council approval prior to authorizing any purchase over \$5,000.00;

NOW, THEREFORE, BE IT RESOLVED, that the Mayor and City Council of La Vista, Nebraska award a contract in a form satisfactory to the City Administrator and City Attorney to TR Construction, Omaha, Nebraska, for the Park View Boulevard Panel Replacement Project in an amount not to exceed \$372,175.96.

PASSED AND APPROVED THIS 2ND DAY OF MARCH 2021.

CITY OF LA VISTA

Douglas Kindig, Mayor

ATTEST:

Pamela A. Buethe, CMC
City Clerk

Sheet 1 of 2											
SUBMITTED PROPOSALS & COSTS Date of Bid: February 12, 2021, 10:00am Client: City of La Vista Proj.: Park View Blvd Panel Replacement - 84th ST to 96th ST			Bidder 1 TR Construction Omaha, NE			Bidder 2 Midwest DCM Omaha, NE			Bidder 3 NL&L Concrete, Inc. Omaha, NE		
ITEM	DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL
1	Mobilization	1	LS	\$12,768.00	\$12,768.00	\$18,342.00	\$18,342.00	\$7,000.00	\$7,000.00	\$12,009.00	\$12,009.00
2	Clearing and Grubbing Per Intersection Corner	7	EA	\$556.00	\$3,892.00	\$500.00	\$3,500.00	\$175.00	\$1,225.00	\$261.00	\$1,827.00
3	Pavement Repair - Large Area (Type L65)	3600	SY	\$62.13	\$223,668.00	\$65.00	\$234,000.00	\$87.00	\$313,200.00	\$99.65	\$358,740.00
4	Pavement Repair - Large Area (Type L85)	600	SY	\$64.24	\$38,544.00	\$72.00	\$43,200.00	\$90.00	\$54,000.00	\$114.00	\$68,400.00
5	Pavement Repair - Small Area (Type L65)	500	SY	\$71.53	\$35,765.00	\$65.00	\$32,500.00	\$87.00	\$43,500.00	\$106.00	\$53,000.00
6	Pavement Repair - Small Area (Type L85)	100	SY	\$77.42	\$7,742.00	\$72.00	\$7,200.00	\$93.00	\$9,300.00	\$146.00	\$14,600.00
7	Repair Driveway (Type L85)	80	SY	\$65.58	\$5,246.40	\$85.00	\$6,800.00	\$50.00	\$4,000.00	\$71.85	\$5,748.00
8	Install Sodding	350	SY	\$8.40	\$2,940.00	\$4.00	\$1,400.00	\$15.00	\$5,250.00	\$16.60	\$5,810.00
9	Remove and Install New Sprinkler System Head	10	EA	\$48.00	\$480.00	\$75.00	\$750.00	\$50.00	\$500.00	\$175.00	\$1,750.00
10	Adjust Manhole to Grade	7	EA	\$192.00	\$1,344.00	\$350.00	\$2,450.00	\$175.00	\$1,225.00	\$337.00	\$2,359.00
11	Repair Sidewalk	600	SF	\$7.34	\$4,404.00	\$7.00	\$4,200.00	\$6.00	\$3,600.00	\$7.47	\$4,482.00
12	Construct Concrete Curb Ramp	252	SF	\$9.96	\$2,509.92	\$25.00	\$6,300.00	\$13.00	\$3,276.00	\$15.65	\$3,943.80
13	Construct Detectable Warning Panels	56	SF	\$43.44	\$2,432.64	\$45.00	\$2,520.00	\$24.00	\$1,344.00 *	\$27.10	\$1,517.60
14	Provide Temporary Traffic Control	1	LS	\$4,200.00	\$4,200.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00	\$3,928.00	\$3,928.00
15	Remove and Replace Curb Inlet Top	3	EA	\$3,840.00	\$11,520.00	\$3,200.00	\$9,600.00	\$2,900.00	\$8,700.00	\$3,187.00	\$9,561.00
16	Remove and Reconstruct Type "A" Single Inlet	1	EA	\$7,320.00	\$7,320.00	\$4,500.00	\$4,500.00	\$3,400.00	\$3,400.00	\$3,421.00	\$3,421.00
17	Rental of Skid Steer, Fully Operated	40	HR	\$85.00	\$3,400.00	\$110.00	\$4,400.00	\$10.00	\$400.00	\$67.10	\$2,684.00

	SUBMITTED PROPOSALS & COSTS Date of Bid: February 12, 2021, 10:00am Client: City of La Vista Proj.: Park View Blvd Panel Replacement - 84th ST to 96th ST				Bidder 1 TR Construction Omaha, NE		Bidder 2 Midwest DCM Omaha, NE		Bidder 3 NL&L Concrete Omaha, NE		Bidder 4 Swain Construction Omaha, NE	Sheet 2 of 2
ITEM	DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL	
18	Rental of Dump Truck, Fully Operated	40	HR	\$100.00	\$4,000.00	\$135.00	\$5,400.00	\$10.00	\$400.00	\$91.90	\$3,676.00	
	TOTAL BID FOR ITEMS 1 THROUGH 18				\$372,175.96		\$390,062.00		\$468,320.00		\$557,456.40	

Bid Bond, 5% of Bid, Yes or No

YES

YES

YES

YES

* NL&L Bid adjusted based upon cost per unit